Stock	Unit	Description	Approved Brand	Estimated Number of Servings	Bidder	Bidder Terms	Bidder Brand	Manufacturer's	Pack	Estimated Servings/Pounds	Cost Per	Required Number of	Cost Per Case	Extended Total	Comments	LEAD TIME FROM ORDER	AWARDS
Number	Unit	Description	(Manufacturer Product Code)	(2024-2025)	Bidder	Bidder Terms	Bidder Brand	Product Code	Size	Per Case	Serving/Pounds	Cases	Cost Per Case	Cost	Comments	(IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1038	SERVINGS	Beef Turnover, Jamaican - IQF, turnover filled with 100% seasoned ground beef (no soy additives). Crust made with whole grain flour. Serving to equal a minimum of 2 oz. m/ma and 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is 50/case. Ship Lot: 300 Cases	Golden Krust BFF\$804	100,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			
1040	SERVINGS	Vegetable Blend, Corn and Jalapeno - Roasted sweet corn with jalapenos. Serving size must equal 1/2 cup vegetable equivalent for the Child nutrition program. Pack 6/2.5 lb bags. Approximately 76 servings per case. Ship Lot: 400 Cases	Simplot 10071179034841	250,000	SYSCO MEMPHIS LLC	NET 14 DAYS	SIMPLOT	34841-4319925	6/2.5#	77.66	\$0.39	3,219	\$30.29	\$97,503.51		3 WEEKS	
		Vegetable Blend, Corn and Jalapeno - Roasted sweet	Simplot 10071179034841														
1040	SERVINGS	com with jalapenos. Serving size must equal 1/2 cup vegetable equivalent for the Child nutrition program. Pack 6/2.5 lb bags. Approximately 76 servings per case. Ship Lot: 400 Cases		250,000	Robbins Sales Company LLC	N30	Simplot	10071179034841	6/2.5lb	77	\$0.38987	3,247	\$30.02	\$97,467.53	n/a	14-21 Days ARO	
1040	SERVINGS	Vegetable Blend, Corn and Jalapeno - Roasted sweet corn with jalapenos. Serving size must equal 1/2 cup vegetable equivalent for the Child nutrition program. Pack 6/2.5 lb bags. Approximately 76 servings per case. Ship Lot: 400 Cases	Simplot 10071179034841	250,000	J.R. Simplot Company	2% 10 net 15 days from invoice or 30 days net	Simplot RoastWorks Flame-Roasted Corn & Jalapeno Blend	10071179034841	6/2.5#	77.66	\$0.36	3,219	\$28.32	\$91,166.62		2 Weeks (14 Days)	AWARD
1048	SERVINGS	pastry. Serving size to equal a minimum of 2 oz. m/ma and 2 oz. grain equivalents for the Child Nutrition program. Must provide crediting statement. Approximate pack size is	Natchitoches Meat Pie Co. 30389	100,000	Schoolyard Belly	Payment is due within 30 days after receipt of invoice.	Natchitoches Meat Pie Co.	30389	96	24	\$2.14	4,167	\$51.36	\$214,000.00	n/a	3 weeks	AWARD
1062	SERVINGS	Ribs, BBQ - Smoked BBQ St. Louis styled ribs. No sauce added, dry rub. Each serving must equal a minimum of 2 oz. of meat/meat alternate. Packed in whole slabs, 8/1.6 lbs. cryovac bags per case. Approximately 48 servings per case. Ship Lot: 450 Cases	Brookwood Farms 17505	180,000	Brookwood Farms	Net 7 days	Brookwood Farms	17505	4/2 ct	49.92	7.8	3,606	\$389.38	\$1,404,000.00	cost is per LB	2 weeks	NO AWARD TOO COST PROHIBITED

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost Per Case	Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1062	SERVINGS	Ribs, BBQ - Smoked BBQ St. Louis styled ribs. No sauce added, dyr ub. Each serving must equal a minimum of 2 oz. of meat/meat alternate. Packed in whole slabs, 8/1.6 lbs. cryovac bags per case. Approximately 48 servings per case. Ship Lot: 450 Cases	Brookwood Farms 17505	180,000	SYSCO MEMPHIS,	NET 14 DAYS	BROOKWOOD	17505-1056177	14lbs avg	63.5	1.9092	2,835	\$5,412.84	\$15,343,483.46	NEW ITEM SET UP- \$ 8.666#	6 WEEKS	NO AWARD TOO COST PROHIBITED
1084	SERVINGS	Veggie Nuggets, Chicken Flavored - Chicken flavored veggielsoy nuggets made with plant based protein. Must be CN labeled. Serving to meet 2 oz. of meat/meat alternate for the child nutrition program. Approximately 42 servings/case. Ship Lot: 400 Cases		250,000	dr. Praeger's Sensible Foods LLC	Net 30	dr. Praeger's Sensible Foods LLC	SCNGFIN-CN	10LBS	54	\$0.66	4,630	\$35.78	\$165,650.00	Gluten Free, Vegan, Halal and Kosher Certified	3 weeks	SAMPLE SENT SAMPLE PASSED ADD AS APPROVIED BRAND
1084	SERVINGS	Veggie Nuggets, Chicken Flavored - Chicken flavored veggie/soy nuggets made with plant based protein. Must be CN labeled. Serving to meet 2 oz. of meat/meat alternate for the child nutrition program. Approximately 42 servings/case. Ship Lot: 400 Cases	Morning Star - 97762 Rebellyous KNFC212 Impossible 300000077	250,000	Impossible Foods	Net 21 Days	Impossible Foods	300000077	2/5lb Bags	48	\$0.73	5,208	\$35.18	\$183,250.00	Mixed Pallet with other Impossble SKUS, 3 pallet minimum	3	
1084	SERVINGS	Veggie Nuggets, Chicken Flavored - Chicken flavored veggie/soy nuggets made with plant based protein. Must be CN labeled. Serving to meet 2 oz. of meat/meat alternate for the child nutrition program. Approximately 42 servings/case. Ship Lot: 400 Cases	Morning Star - 97762 Rebellyous KNFC212 Impossible 300000077	250,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	KELLANOVA-MORNING STAR	97762-7338718	212/.75OZ	52	\$0.79	4,808	\$41.11	\$197,656.88		4 WEEKS	
1084	SERVINGS	Veggie Nuggets, Chicken Flavored - Chicken flavored veggielsoy nuggets made with plant based protein. Must be CN labeled. Serving to meet 2 oz. of meat/meat alternate for the child nutrition program. Approximately 42 servings/case. Ship Lot: 400 Cases	Rebellyous KNFC212 Impossible 300000077	250,000	CHURCHFIELD TRADING	NET 30	REBELLYOUS	KNFC212	2/5LB	53	\$0.69	4,717	\$36.50	\$172,169.81		14 DAYS	
1084	SERVINGS	Veggie Nuggets, Chicken Flavored - Chicken flavored veggie/soy nuggets made with plant based protein. Must be CN labeled. Serving to meet 2 oz. of meat/meat alternate for the child nutrition program. Approximately 42 servings/case. Ship Lot: 400 Cases		250,000	Kellanova-Kellogg Sales Company	Net 21 DAYS	MORNINGSTARM FARMS	28989-97762	212/0.75OZ	212	\$0.17	1,179	\$37.00	\$43,632.08		2 weeks	THE .17 CENTS IN COLUMN L IS FOR A SINGLE NUGGET, AND IT WILL TAKE FOUR, WHICH TAKES THE SERVING COST UP TO .68 CENTS.

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1084	SERVINGS	be CN labeled. Serving to meet 2 oz. of meat/meat alternate for the child nutrition program. Approximately 42	Morning Star - 97762 Rebellyous KNFC212 Impossible 300000077	250,000	Rebellyous	net 30	Kickin nugget	KNFC212	2/5LB bags	53	\$0.66	4,717	\$35.10	\$165,550.00			AWARD
1131	SERVINGS	Fish Sticks, Potato Coated - All natural, oven-ready, potato coated fish sticks made from wild alaska pollock. Serving to meet 2 oz. meat/meat alternate and a minimum of .75 oz. grain for the child nutrition program. Approximate pack size: 40 servings per case Ship Lot: 500 Cases	Trident 422071	400,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	TRIDENT	422071-7013086	1/10#	40	\$1.11	10,000	\$44.22	\$442,200.00		4 WEEKS	AWARD
1226	SERVINGS	Pancake, Precooked- Bulk - Heat and Serve. One pancake will meet at least 1 oz. of grain per Child Nutrition Program standards. Grain must be at least 50 percent whole grain. CN label or creditling statement required. Approximate Pack: 144 per case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	100,800	Robbins Sales Company LLC	N30	Right Start Foods	RS-7245	144/1.4oz	144	\$0.15451	700	\$22.25	\$15,575.00		14-21 Days ARO	SAMPLE SENT SAMPLE PASSED ADD AS APPROVIED BRAND
1226	SERVINGS	Pancake, Precooked- Bulk - Heat and Serve. One pancake will meet at least 1 oz. of grain per Child Nutrition Program standards. Grain must be at least 50 percent whole grain. CN label or creditling statement required. Approximate Pack: 144 per case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	100,800	Bake Crafters	Net 14	Bake Crafters	1475	144/1.3 oz	144	\$0.15	700	\$22.03	\$15,422.40		3 weeks	SAMPLE SENT PRODUCT COMPROMISED
1226	SERVINGS	Pancake, Precooked- Bulk - Heat and Serve. One pancake will meet at least 1 oz. of grain per Child Nutrition Program standards. Grain must be at least 50 percent whole grain. CN label or creditting statement required. Approximate Pack: 144 per case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	100,800	Bake Crafters	Net 14	Bake Crafters	1734	144/1.3 oz	144	\$0.19	700	\$27.07	\$18,950.40		3 weeks	SAMPLE SENT SAMPLE PASSED ADD AS APPROVIED BRAND

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
		Pancake, Precooked- Bulk - Heat and Serve. One	No Approved Brands														
1226	SERVINGS	pancake will meet at least 1 oz. of grain per Child Nutrition Program standards. Grain must be at least 50 percent whole grain. CN label or crediting statement required. Approximate Pack: 144 per case. If packed differently, please indicate. Ship Lot: 300 Cases		100,800	Conagra Brands, Inc.	Net 30 Days	Krusteaz	8615180349	144 ct	48	\$0.62	2,100	\$29.71	\$62,395.20	Minimum shipment 2500lbs	2 weeks ARO	SAMPLE SENT SAMPLE PASSED ADD AS APPROVIED BRAND
			No Approved Brands														
		pancake will meet at least 1 oz. of grain per Child Nutrition Program standards. Grain must be at least 50 percent whole grain. CN label or crediting statement required.															AWARD SAMPLE SENT
1226	SERVINGS	Approximate Pack: 144 per case. If packed differently, please indicate.		100,800	CHURCHFIELD TRADING	NET 30	RIGHT START	7245	144/CASE	144	\$0.14	700	\$20.79	\$14,553.00	MIN 336	2 WEEKS	SAMPLE PASSED ADD AS APPROVIED
		Ship Lot: 300 Cases															BRAND
		Bacon, Turkey Frozen - Fully cooked pre-sliced turkey	Jennie O -271106														
1525	SERVINGS	bacon. Crediting and CN labeling required. Packed approximately 600 slices per case. Ship Lot: 200 Cases	Butterball 22655-30302	125,000	Butterball LLC	Net 10 Days	Butterball	22655-30302	2/6 lb	134	\$0.29	933	\$39.10	\$36,473.88	Minimum shipment 5,000 lbs	3 Weeks ARO	AWARD SHIP LOT WILL BE 420 CASES
		·															420 GAGEG
1525	SERVINGS	Bacon, Turkey Frozen - Fully cooked pre-sliced turkey bacon. Crediting and CN labeling required. Packed approximately 600 slices per case.	Jennie O -271106 Butterball 22655-30302	125,000	Butterball LLC	Net 10 Days	Butterball	22655-89214	4/6 lb	268	\$0.29	466	\$76.56	\$35,708.75	Minimum shipment 5,000 lbs	3 Weeks ARO	SAMPLE SENT
		Ship Lot: 200 Cases															SAMPLE FAILED
		Bacon, Turkey Frozen - Fully cooked pre-sliced turkey bacon. Crediting and CN labeling required. Packed approximately 600 slices per case.	Jennie O -271106 Butterball 22655-30302														
1525	SERVINGS	Ship Lot: 200 Cases		125,000	Hormel	10 DAYS	JENNIE-O	271106	12/0.625#	120	\$0.81	1,042	\$97.57	\$101,640.00	6 SLICES = 10Z	10 DAYS	
		<u> </u>															
			Bake Crafter's 1556 Krusteaz 86151-40321														
1769	SERVINGS	Approximately packed in bulk 144-1.4 oz servings/case.		500,000	Rich's	2% 10 - Net 11 Days	Rich's	17279	192/1.10oz	192	\$0.21	2,604	\$40.38	\$105,150.00	5,000 lbs min order	10 Days	INCORRET SAMPLE SENT
		Ship Lot: 400 Cases															

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1769	SERVINGS	Waffle, Maple, WG, Bulk -Fully Cooked. Each waffle to meet 1 oz. grain equivalents for the Child Nutrition Program. Approximately packed in bulk 144-1.4 oz servings/case. Ship Lot: 400 Cases	Bake Crafter's 1556 Krusteaz 86151-40321	500,000	Robbins Sales Company LLC	N30	Right Start Foods	RS-9201WE	144/1.25oz, 18/8IW CT	144	\$0.16659	3,472	\$23.99	\$83,298.61		14-21 Days ARO	SAMPLE SENT SAMPLE PASSED ADD AS APPROVIED BRAND
1769	SERVINGS	Waffle, Maple, WG, Bulk -Fully Cooked. Each waffle to meet 1 oz. grain equivalents for the Child Nutrition Program. Approximately packed in bulk 144-1.4 oz servings/case. Ship Lot: 400 Cases	Bake Crafter's 1556 Krusteaz 86151-40321	500,000	Bake Crafters	Net 14	Bake Crafters	1556	144/1.3 oz	144	\$0.19	3,472	\$27.46	\$95,350.00		3 weeks	
1769	SERVINGS	Waffle, Maple, WG, Bulk -Fully Cooked. Each waffle to meet 1 oz. grain equivalents for the Child Nutrition Program. Approximately packed in bulk 144-1.4 oz servings/case. Ship Lot: 400 Cases	Bake Crafter's 1556 Krusteaz 86151-40321	500,000	CHURCHFIELD TRADING	NET 30	RIGHT START	9201WE	144/CASE	144	\$0.14	3,472	\$20.79	\$72,187.50	MIN 260	2 WEEKS	AWARD SAMPLE SENT SAMPLE PASSED ADD AS APPROVIED BRAND
1879	SERVINGS	Soup, Baked Potato, Frozen - In 8/4 lb boil in bags. Contains potatoes and turkey bacon. Must meet 1 oz meat/meat alternate and 1/2 our pegetable per serving. Please provide CN label or product formulation sheet for crediting. Ship Lot: 100 Cases	Vendisco 80006	200,000	Vendisco	Net 30	Vendisco	CN80006	(8) 4# bags	102	\$0.97	1,961	\$98.76	\$193,668.36		4	AWARD
1928	SERVINGS	Veggie Chicken Patty - Plant based version of chicken patty. Made from non-GMO soy, must be vegan. Must meet 2 meat/meat alternate. Case pack 64 count, indicate if packed differently. Ship Lot: 300 Cases	Rebellyous KPFC21	250,000	CHURCHFIELD TRADING	NET 30	REBELLYOUS	KPFC21	2/5LB	53	\$0.80	4,717	\$42.44	\$200,188.68		14 DAYS	
1928	SERVINGS	Veggie Chicken Patty - Plant based version of chicken patty. Made from non-GMO soy, must be vegan. Must meet 2 meal/meat allemate. Case pack 64 count, indicate if packed differently. Ship Lot: 300 Cases	Rebellyous KPFC21	250,000	Rebellyous	net 30	Kickin Patty	KPFC21	2/5LB bags	53	\$0.77	4,717	\$40.81	\$192,500.00			AWARD

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.		Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
2341	SERVINGS	Soup, Chicken Tortilla - Flavorful Southwestern loaded soup with chicken, beans, tomatoes, corn, mexican seasonings, and totilla strips. One cup of soup to count as 1 oz. meat/meat alternate. Approximately packed 4/4 pound bags per case. If packed differently, please indicate. Must provide CN label or product formulation sheet for crediting. Ship Lot: 300 Cases		100,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	NORPAC	117105-7282984	4/4#	64	\$0.85	1,563	\$54.31	\$84,886.53	NEW ITEM SET UP	6 WEEKS	AWARD
2350	SERVINGS	Smoothie, Mango-Pineapple, Frozen - Mango-Pineapple flavored yogurt based smoothie. Meets 1 meat/meat alternate and 1/2 cup fruit for child nutrition program. Packed in a carton or bottle. Serving size approximately 7-8 oz. Approximate Pack: 50 per case Ship Lot: 200	No Approved Brands	100,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
2351	SERVINGS	Smoothie, Strawberry-Banana, Frozen - Strawberry-Banana flavored yogurt based smoothie. Meets 1 meat/meat alternate and 1/2 cup fruit for child nutrition program. Packed in a carton or bottle. Serving size approximately 7-8 oz. Approximate Pack: 50 per case Ship Lot: 200 Cases	No Approved Brands	100,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
2352	SERVINGS	Bagels, Plain WG, Frozen - Plain, sliced whole grain bagel bulk packed. Must meet at least 2-3.0 oz. grain equivalent, per child nutrition program. Approximate Pack: 84 per case Ship Lot: 200 Cases	No Approved Brands	75,000	Bake Crafters	Net 14	Bake Crafters	936	84/2.2 oz	84	\$0.29	893	\$24.36	\$21,750.00		3 weeks	AWARD SAMPLE SENT
2360	SERVINGS	Yeast Rolls WG, Frozen - Fully baked yeast rolls sliced bulk packed. Two rolls must meet at 1 oz. grain equivalent, per child nutrition program. Approximate Pack: 84 per case Ship Lot: 200 Cases	No Approved Brands	75,000	Proview Foods	Net 10 days	Proview Foods - Sister Schubert's	24300	144/.80 oz	144	\$0.17	521	\$24.48	\$12,750.00	Minimum ship - 6 pallets, Proview P.O. can be shipped with Tasty Brands PO to meet minimums	14 days	AWARD SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.													
		Yeast Rolls WG, Frozen - Fully baked yeast rolls sliced bulk packed. Two rolls must meet at 1 oz. grain equivalent,	No Approved Brands														
2360		bulk packed. I wo rois must meet at 1 oz. grain equivalent, per child nutrition program. Approximate Pack: 84 per case		75,000	T. Marzetti	2/10 NET 30	Sister Schubert's	4816211256	144/.65oz	72	\$0.3270	1,042	\$23.57	\$24,552.08	5000 Lb min	1 week	SAMPLE SENT SAMPLE SUBMITTED TOO LATE
		Ship Lot: 200 Cases															
		Meal Kit, Turkey and Cheese on Ciabatta - Thaw and	No Approved Brands														
2374	SERVINGS	Serve Meal 30 CT WG Turkey and Cheese Clabatta Kit. Each meal kit provides a minimum of 2.000 zc. mirna, 2 oz. equivalent grains. ½ cup vegetable (additional) and ½ cup fruit. Packed in a recyclable clear cello bag with MSCS logo. Each kit also contains a prepackaged spoon, napkin & straw. Must be free of Artificial Colors, Trans Fats and High Fructose Corn Syrup. Must be Buy American Compliant. Memphis-Shelby County Branded Logo required on kits. Please see MSCS website to assess the Communication webpage for specific on logo colors and size. Ship Lot: 500 Cases	по дриме Выпо	150,000	ES Foods	NET 30	ES Foods	61925	30 ct/case	30	\$2.864	5,000	\$85.92	\$429,600.00	ES Foods 61925 (WG Turkey & Cheese on Ciabatta Meal. Each serving (1 Meal) meets 2 oz Grain, 2 oz WIMA, 1/2 cup fruit and 1/2 cup additional veg. Thaw & Serve, 30/case. Order Min: 7 pallets (294 cases) combined. Order Min of Thaw & Serve Breakfast Breaks and Meal Breaks can be combined to make up minimum	does not include transit time which can take from 3-5	AWARD SAMPLE SENT SAMPLE PASSED
		Meal Kit, Oven Cooked Chicken & Cheese Croissant -	No Approved Brands														
2376	SERVINGS	Thaw and Serve Meal 30 CT WG Chicken and Cheese Croissant. Each meal kit provides a minimum of 2.00 oz. m/ma, 2 oz. equivalent grains, ½ cup vegetable (additional) and ½ cup fruit. Packed in a recyclable clear cello bag with MSCS logo. Each kit also contains a prepackaged spoon, napkin & straw. Must be free of Artificial Colors, Trans Fats and High Fructose Corn Syrup. Must be Buy American Compliant. Memphis-Shelby County Branded Logo required on kits. Please see MSCS website to assess the Communication webpage for specific on logo colors and size. Packed 30 CT WG Chicken and Cheese Croissant. If packed differently, please indicate. Ship Lot: 500 Cases		150,000	ES Foods	NET 30	ES Foods	61956	30 ct/case	30	\$2.864	5,000	\$85.92	\$429,600.00	ES Foods 61956 (WG Oven Cooked Chicken & Cheese Croissant Meal. Each serving (1 Meal) meets 2.25 oz Grain, 2 oz additional veg. Thaw & Serve, 30/case. Order Min: 7 pallets (294 cases) combined. Order Min of Thaw & Serve Breakfast Breaks and Meal Breaks can be combined to make up minimum	of orders. Lead-time does not include transit time which can take from 3-5 days. LTL orders ship on Friday	AWARD SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2377		Meal Kit, Chocolate Chip Muffin - Thaw and Serve Breakfast. Each kit provides 2 oz. equivalent grains, and ½ ozu fruit. Packed in a recyclable clear cello bag with MSCS logo. Each kit also contains a prepackaged spoon, napkin & straw. Must be free of Artificial Flavors, Artificial Colors, Trans Fats and High Fructose Corn Syrup. Must be Buy American Compliant. Memphis-Shelby County Branded Logo on all kits. Packed 48 CT Chocolate Chip Muffin Kit. If packed differently, please indicate. Ship Lot: 300	No Approved Brands	100,000	ES Foods	NET 30	ES Foods	61152	48	48	\$1.334	2,083	\$64.03	\$133,400.00	ES Foods 61152 (WG Smart Choice Chocolate Chip Muffin Breakfast Breaks. Each serving (1 meal) meets 2 oz Grain and Half Cup of Fruit. Thaw & Serve, 48/case. Order Min: 7 pallets (280 cases) combined. Order Min of Thaw & Serve Breakfast Breaks and Meal Breaks can be combined to make up minimum		AWARD SAMPLE SENT SAMPLE PASSED
2383	SERVINGS	Buffalo Style Chicken Breast & Cheddar on Brioche Bun, M Whole grain, individually wrapped premium Buffalo Style Chicken Breast paired with cheddar cheese on a fresh brioche bun. Wrapped in an oven safe film. Product to meet 2 oz. grain equivalents and 2 oz. meat/meat alternate for the Child Nutrition Program. CN label or product formulation sheet (PFS) required. Approximate pack, 72/case. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	100,000	Tasty Brands	1%10, net 20	Tasty Brands	74078	72/4.40 oz	72	\$1.18	1,389	\$84.91	\$117,930.00	available for commodility processing, NOI/PTV - \$9.47	14 days	AWARD SAMPLE SENT SAMPLE PASSED
3020		Casserole, Sweet Potato - Ready to be baked frozen. Sweet potato casserole, sweet and savory, light and fluffy made from US Grade A standard sweet potatoes. No tree nuts or pecans. To contain eggs, butter, and milk. Each serving must meet 1/2 cup of vegetables. Please indicate serving size. Please provide CN label or product formulation sheet for crediting. Ship Lot: 300 Cases	No Approved Brands	200,000	Vendisco	Net 30	Vendisco	CN80004	(8) 4# bags	102	\$1.17	1,961	\$119.72	\$234,745.10		4	NO AWARD NO SAMPLE SENT
3021	SERVINGS	Ham, Buffet Pre-Sliced - Fully cooked boneless, pre- sliced, buffet style ham. Each serving slice must credit as 1 oz. meat/meat alternates for the Child Nutrition Program. Ship Lot: 300 Cases	No Approved Brands	250,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved		Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Roasted sweet corn, black beans, tomatos, onions, green and red bell peppers. Serving amount to equal 1/2 cup vegetable equivalent for the Child Nutrition program. Pack	No Approved Brands	through MSCS's Sample Submission Process.													
3025	SERVINGS		No Approved Brands	250,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	SIMPLOT	9777762-4273470	6/2.5#	59.4	\$0.55	4,209	\$32.88	\$138,391.92		3 WEEKS	
3025	SERVINGS	Roasted sweet corn, black beans, tomatos, onions, green and red bell peppers. Serving amount to equal 1/2 cup vegetable equivalent for the Child Nutrition program. Pack 6/2.5 b bags. Approximately 59 servings per case. Ship Lot: 400 Cases		250,000	Robbins Sales Company LLC	N30	Simplot	10071179777762	6/2.5lb	59	\$0.54898	4,237	\$32.39	\$137,245.76	n/a	14-21 Days ARO	
3025	SERVINGS	Vegetable Blend, Corn and Black Bean Fiesta - Roasted sweet corn, black beans, tomatos, onions, green and red bell peppers. Serving amount to equal 1/2 cup vegetable equivalent for the Child Nutrition program. Pack 6/2.5 lb bags. Approximately 59 servings per case. Ship Lot: 400 Cases	No Approved Brands	250,000	J.R. Simplot Company	2% 10 net 15 days from invoice or 30 days net	Simplot RoastWorks Flame-Roasted Corn and Black Bean Fiesta Blend	10071179777762	6/2.5#	59.4	0.52	4,209	\$30.69	\$129,166.67		2 Weeks (14 Days)	AWARD SAMPLE APPROVED
3026	SERVINGS	Meatball, Vegetarian - Vegan meatballs, soy or veggle based. CN Labeled or product formulation sheet required for crediting. Serving to equal 1.75-2.0 oz., minimum meat alternate equivalent. Approximately 53 servings/case. If packed differently, please indicate. Ship Lot: 25 Cases	Impossible Meatballs - 3000000006	150,000	Impossible Foods	Net 21 Days	Impossible Foods	300000006	2/5lb Bags	57	\$0.93	2,632	\$52.90	\$139,200.00	Mixed Pallet with other Impossble SKUS, 3 pallet minimum	3	AWARD
3026	SERVINGS	Meatball, Vegetarian - Vegan meatballs, soy or veggie based. CN Labeled or product formulation sheet required for crediting. Serving to equal 1.75-2.0 oz., minimum meat alternate equivalent. Approximately 53 servings/case. If packed differently, please indicate. Ship Lot: 25 Cases	Impossible Meatballs - 3000000006	150,000	SYSCO MEMPHIS,LLC	NET 14 DAYS	IMPOSSIBLE	300000006-	10#	53	\$1.00	2,830	\$52.90	\$149,707.00	NEW ITEM SET UP	5 WEEKS	
3032	SERVINGS	French Toast, Apple Cinnamon, WG, IW-WG Toast topped with an apple cinnamon sauce. Each serving to provide 2 oz grain equivalent for the Child Nutrition Program. Grain credibility statement required. CN labeled. Approximate pack: 100-3.0 servings per case. Ship Lot: 400 Cases	S&F Foods 128MC	300,000	CHURCHFIELD TRADING	NET 30	MICHAELS/PAPETTIS	46025-75012-00	1/15.406LB	85	\$0.52	3,529	\$44.90	\$158,470.59	MINN 616 CS	14-21 DAYS	NO SAMPLE SENT

Stock Number	Unit	Description	Approved Brand (Manufacturer Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds Per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost Per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS'S Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
3032	SERVINGS	French Toast, Apple Cinnamon, WG, W-WG Toast topped with an apple cinnamon sauce. Each serving to provide 2 oz grain equivalent for the Child Nutrition Program. Grain credibility statement required. CN labeled. Approximate pack: 100-3.0 servings per case. Ship Lot: 400 Cases	S&F Foods 128MC	300,000	S&F Foods Inc.	7 Pallet min.	S&F Foods Inc.	128MC	96/3.3oz	96	\$0.60	3,125	\$57.63	\$180,093.75			AWARD

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Units (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Pounds Per Case	Cost Per Pound	Estimated Servings Per Case	Required Number of Cases Needed	Cost Per Case	Extended Total Cost	Comments	Lead Time From Order in Weeks	AWARD
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18	Column 19
1008	POUND	Ground Beef Crumbles, Frozen – Must be made from 100% ground beef fully cooked. Vacuumed sealed and slow cooked in sous vide method. Must provide at least 2 oz meat/meat alternate equivalent for the Child Nutrition Program. Crumbles should be brown in color when fully cooked. Approximate Pack: 20-lb case. Ship Lot: 400 Cases	Cuisine Solutions 1005631	250,000		Net 30 Days	Cuisine Solutions, Inc.	1005631	5/4.0 lb	20	\$5.82	105	2,381	\$116.40	\$277,142.86		3	AWARD
1499	POUND	Veg Mixed Blend Tuscan - Frozen vegetable blend to include carrots, cut green beans, yellow squash and zucchini. Red peppers optional. Bright colors with no blemishes. Serving size must equal 1/2 cup vegetable equivalent for the Child nutrition program. Packed approximately 20 lbs. If different, please indicate pack size. Ship Lot: 300 Cases	Simplot 10071179602026	300,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	SIMPLOT	602026-6876007	8/3#	24	1.5837	\$116.01	2.586	38	\$98,268.00		3 WEEKS	
1499	POUND	Veg Mixed Blend Tuscan - Frozen vegetable blend to include carrots, cut green beans, yellow squash and zucchini. Red peppers optional. Bright colors with no blemishes. Serving size must equal 1/2 cup vegetable equivalent for the Child nutrition program. Packed approximately 20 lbs. If different, please indicate pack size. Ship Lot: 300 Cases	Simplot 10071179602026	300,000	Robbins Sales Company Inc.	N30	Simplot	10071179602026	8/3lbs	24	\$1.57041	116	2,586	\$37.69	\$97,474.14	n/a	14-21 Days ARO	

1499	POUND	Veg Mixed Blend Tuscan - Frozen vegetable blend to include carrots, cut green beans, yellow squash and zucchini. Red peppers optional. Bright colors with no blemishes. Serving size must equal 1/2 cup vegetable equivalent for the Child nutrition program. Packed approximately 20 lbs. If different, please indicate pack size. Ship Lot: 300 Cases		300,000	J.R. Simplot Company	2% 10 net 15 days from invoice or 30 days net	Simplot Simple Goodness Tuscan Vegetable Blend	10071179602026	8/3#	25.5	1.41	116.01	2,586	\$35.88	\$92,785.10	2 Weeks (14 Days)	AWARD	
3024	POUND	Mixed Vegetable Blend, Country - No Frozen, IQF, corn, carrots, green beans, peas, and lima beans. Packed to Grade A standard. Serving size must equal 1/2 cup vegetable equivalent for the Child nutrition program. Pack 12/2.5 lb bags. Approximately 160 servings per case. If packed differently please indicate. Ship Lot: 400 Cases	o Approved Brands	250,000	NO BID	NO BID	NO BID	NO BID	NO BID				#DIV/0!	\$0.00	#DIV/0!		NO BID	

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	Column 4 PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre-Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1046	SERVINGS	Cereal, Fruit Shaped, WG - Whole grain cereal in a sealed bowl pack container. Container must be easy open. No more than 12 grams of sugar per 2 cz. serving. Must meet 2 cz. grain equivalents for the Child Nutrition Program. Approximate Pack Size: 60/case. Please specify pack size if different. Ship Lot: 400 Cases	General Mills 10016000195670	400,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	GM	195670-7228214	60/2oz	60	\$0.60	\$35.96	6,666.67	\$239,733.45			
1046	SERVINGS	Cereal, Fruit Shaped, WG - Whole grain cereal in a sealed bowl pack container. Container must be easy open. No more than 12 grams of sugar per 2 co. serving. Must meet 2 oz. grain equivalents for the Child Nutrition Program. Approximate Pack Size: 60/case. Please specify pack size if different. Ship Lot: 400 Cases	General Mills 10016000195670	400,000	CHURCHFIELD TRADING	NET 30	GENERAL MILLS	195670	60/2oz	60	\$0.60	\$35.85	6,666.67	\$239,000.00	min 850 cs can combine GM products		AWARD
1049	SERVINGS	Cereal, Chocolate Flavored Puffs, WG - Whole grain cereal in a sealed bowl pack container. Container must be easy open. No more than 12 grams of sugar per 2 oz. serving. Must meel 2 oz. grain equivalents for the Child Nutrition Program. Approximate Pack Size: 60/case. Please specify pack size if different. Ship Lot: 400 Cases	General Mills 16000148857	400,000	SYSCO MEMOPHIS	net 14days	GM	14885-7072182	60/2oz	60	\$0.60	\$35.96	6,666.67	\$239,733.45			
1049	SERVINGS	Cereat, Chocolate Flavored Puffs, WG - Whole grain cereal in a sealed bowl pack container. Container must be easy open. No more than 12 grams of sugar per 2 oz. serving. Must meet 2 oz. grain equivalents for the Child Nutrition Program. Approximate Pack Size: 60/case. Please specify pack size if different. Ship Lot: 400 Cases	General Mills 16000148857	400,000	CHURCHFIELD TRADING	NET 30	GENERAL MILLS	148857	60/2oz	60	\$0.60	\$35.85	6,666.67	\$239,000.00	min 850 cs can combine GM products		AWARD SAMPLE PASSED
1089	SERVINGS	Chocolate Chip Cookies - IW, Mini Chocolate Chip Cookies. Single packaged mini Chocolate Chip Cookies to meet 1 oz. grain equivalent for the Child Nutrition Program. Must provide CN or crediting statement and Smart Snack guidelines. Packed 100 per case. If packed differently, please indicate. Ship Lot: 200	Grandma's Cookies 65034 Bakecrafters 527 Grandmas 66154	300,000	Rich's	2% 10 days - net 11	Rich's	19402	126/1.50 oz	126	\$0.36	\$45	2,380.95	\$107,130.00	5,000 lbs order min.	10 Days	SAMPLE SENT DOES NOT MEET SPEC
1224	SERVINGS	Chili Lime Seasoning - Reduced Sodium - with chili peppers, lime, and sea salt. Individual packets, 1 gram. Approximately 1000 per case. Serving size = 1 packet. Ship Lot: 200	Heinz 540400 Welch's WELC490 Smuckers 5150000767	1,000	NO BID	NO BID	NO BID	NO BID	NO BID			\$0.00	#DIV/0!	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand	Estimated Number of Servings	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds	Cost Per	Cost Per	Required Number of	Extended Total	Comments	LEAD TIME FROM ORDER	AWARDS
		·	(Manufacture Product Code)	, ,						per Case	Serving/Pounds	Case	Cases	Cost		(IN WEEKS)	
1225	Column 2 SERVINGS	Column 3 Chamoy Hot Sauce - Fruly - Must contain chili peppers, lime, sea salt, and fruit flavor. Must be gluten free and no artificial colors or flavors. Individual packets, 27oz. Approximately 500 per case. Serving size = 1 packet. Ship Lot: 200	Column 4 Tajin 4810212	1,000	Column 6	NO BID	Column 8 NO BID	Column 9 NO BID	Column 10	Column 11	Column 12	\$0.00	#DIV/0!	#DIV/0!	Column 16	Column 17	NO BID
1342	EACH	Spice, Cumin, Ground - Ground cumin with rich aroma and flavor. Approximate Pack size between 12 -16 oz. containers. Please indicate if packed differently. Ship Lot: 100 Cases	Badia 00516 Assagio Classico 25718	300	NO BID	NO BID	NO BID	NO BID	NO BID			\$0.00	#DIV/0!	#DIV/0!			NO BID
		Simp 25th 150 Gases															
1400	SERVINGS	Tortilla, Flour - Flour tortilla made with enriched flour. Each tortilla must be 4.5" in diameter and meet a minimum of 1/2 oz. grain equivalents per child nutrition program standards. CN label or grain crediting statement required. Approximate pack 6/24 count per case. Ship Lot: 300 Cases	Ole Mexican/La Banderita 0128 Del Pasado 597011	200,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	OLE MEXICAN-LA BAND	128	16/20CT	320	\$0.07	\$21.79	625.00	\$13,618.75		3 WEEKS	AWARD
		Demind Water Haffarand Draffed are an arrival	Thireten 707544														
1503	SERVINGS	Bottled Water, Unflavored - Purified, non-carbonated, caffeine free and sugar-free. Packed in twist cap plastic bottle. Each bottle to yield 16.9 oz water. Approximate pack: 24/case. Ship Lot: 500 Cases	I nirster 76/514 Crystal Geyser CGW124514CT	400,000	Ultimate Attire & Solutions	net 30	Member's Mark	561914	48	40	\$0.16	\$6.85	10,000.00	\$68,500.00		2 Weeks	SAMPLE SENT SAMPLE PASSED
1503	SERVINGS	Bottled Water, Unflavored - Purified, non-carbonated, caffeine free and sugar-free. Packed in twist cap plastic bottle. Each bottle to yield 16.9 oz water. Approximate pack: 24/case. Ship Lot: 500 Cases	Thirster 767514 Crystal Geyser CGW124514CT	400,000	Ultimate Attire & Solutions	net 30	Crystal Geyser	CGW24514CT	84	24	\$0.29	\$6.85	16,666.67	\$114,160.00		2 Weeks	TAGES
1504	SERVINGS	Bottled Water, Unflavored - Purified, non-carbonated, caffeine free and sugar-free. Packed in twist cap plastic bottle. Each bottle to yield 8 oz water. Approximate pack: 24/case. Ship Lot: 500 Cases	Thirster 894890 Crystal Geyser CGW124514CT	300,000	Ultimate Attire & Solutions	net 30	Member's Mark	852853	48	80	\$0.13	\$11.00	3,750.00	\$41,250.00		2 Weeks	AWARD SAMPLE SENT SAMPLE PASSED
1504	SERVINGS	Bottled Water, Unflavored - Purified, non-carbonated, caffeine free and sugar-free. Packed in twist cap plastic bottle. Each bottle to yield 8 oz water. Approximate pack: 24/case. Ship Lot: 500 Cases	Thirster 894890 Crystal Geyser CGW124514CT	300,000	Ultimate Attire & Solutions	net 30	Crystal Geyser	CGW124514CT	144	30	\$0.24	\$7.32	10,000.00	\$73,200.00		2 Weeks	TAGES
		Tortilla, Flour, WG - Each tortilla must be a 12"	La Banderita/Ole Mexican 27326														
1571	SERVINGS	Idiameter and meet a minimum of 20x whole grain equivalents per child nutrition program standards. CN label or grain crediting statement required. Approximate pack 144 count per case. Ship Lot: 150 Cases		80,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	OLE MEXICAN-LA BAND	27326- 6591826	6/12ct-12"	72	\$0.30	\$21.64	1,111.11	\$24,044.42		3 WEEKS	AWARD
1571	SERVINGS	Tortilla, Flour, WG - Each tortilla must be a 12" diameter and meet a minimum of 2oz whole grain equivalents per child nutrition program standards. CN label or grain crediting statement required. Approximate pack 144 count per case.	La Banderita/Ole Mexican 27326 Don Pancho 79341.22309	80,000	Reser's/ Don Pancho	15days	Don Pancho	79341.22309	6/10	60	0.385	\$23.10	1,333.33	\$30,800.00		2 weeks	
		Ship Lot: 150 Cases															

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
1826	Column 2 SERVING	Column 3 Beverage, Sport Drink - Fruit Punch flavored - Non carbonated, caffeine free, sugar free to contain no more than 110 mg Na per 12 oz. Packed in non breakable container. Approximate Pack:24/12OZ Ship Lot: 100 Cases	Column 4 Gatorade G2 -00052000135305	Column 5 50,000	Column 6 SYSCO MEMPHIS, LLC	Column 7 NET 14 DAYS		Column 9 12202-8567093	24/12oz	Column 11	Column 12 \$0.69	Column 13 \$16.63	2,083.33	Column 15 \$34,645.77	42,000 # or 42 pallets total Distributor Order: May be combined in any case assortment	Column 17 3 WEEKS	Column 18 NO AWARD NO SAMPLE SENT
1828	SERVINGS	Sports Drink, Glacier Freeze - Non- carbonated, 12 oz. reduced sugar beverage with no more than 110 mg sodium per serving, packged in a non breakble resealable bottle. Pack size 24/12 oz. bottles/case. Ship Lot: 100 Cases	Glacier Freeze- 10052000054546	50,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	PEPSICO-QUARTER- GTRADE	12006-7158811	24/12oz	24	\$0.69	\$16.63	2,083.33	\$34,645.77	42,000 # or 42 pallets total Distributor Order. May be combined in any case assortment- CURRENTLY REMOTE- SET UP TO COME FROM QUAKER	3 WEEKS	NO AWARD NO SAMPLE SENT
1847	SERVINGS	100% Vegetable and Fruit Juice, Fruit Punch flavored - 100% Vegetable and Fruit Juice - 6.75 oz juice box in aseptic packaging with attached straw. A blend of vegetable and fruit juices may include sweet potato, apple, and/or pear, and carrol juice concentration, etc. Sherlf stable, fortified with vitamins A C, and E. Oredits as 34 cup of "other" or Additional Vegetable for the Child Nutrition program. Crediting statement/product formulation sheet must be provided. Ship Lot: 400 Cases	Paradise Punch - 412800	500,000	Gregory Packaging	1%10N20	SunCup	412800	40/6.75oz	40	\$0.24	\$9.46	12,500.00	\$118,250.00		2	AWARD
1847	SERVINGS	100% Vegetable and Fruit Juice, Fruit Punch flavored - 100% Vegetable and Fruit Juice - 6.75 oz juice box in aseptic packaging with attached straw. A blend of vegetable and fruit Juices may include sweet potato, apple, and/or pear, and carrot juice concentration, etc. Shelf stable, fortified with vitamins A, C, and E. Credits as 34 cup of "other" or Additional Vegetable for the Child Nutrition program. Crediting statement/product formulation sheet must be provided. Ship Lot: 400 Cases	PARADISE PUNCH - 412800 COUNTRY PURE/ ARDMORE FARM/SJUNSET SIP JUICE 4 U (62052)	500,000	Country Pure Foods	1% net 10 21 days	V-blend	62050	40	40	\$0.34	\$13.59	12,500.00	\$208,625.00	If Shelby County wishes to purchase in half-truckload quanities (20,000 LBS) the delivered price is \$14.14 per case	2	
1849	SERVINGS	100% Vegetable and Fruit Juice, Mango Flavored - 6.75 oz juice box in aseptic packaging with attached straw. A blend of vegetable and fruit juices may include sweet potato, mango, apple, pineapple juice, etc. Shelf stable, fortified with vitamins A, C, and E. Credits as 3/4 cup of "other" or Additional Vegetable for the Childd Nutrition program. Crediting statement/product formulation sheet must be provided. Ship Lot: 400 Cases	WANGO MANGO 62050 APPPLE & EVE 84503 SUNCUP 412800 & 412900	500,000	Gregory Packaging	1%10N20	SunCup	412900	40/6.75oz	40	\$0.24	\$9.46	12,500.00	\$118,250.00		2	AWARD
1849	SERVINGS	100% Vegetable and Fruit Juice, Mango Flavored - 6.75 oz juice box in aseptic packaging with attached straw. A blend of vegetable and fruit juices may include sweet potato, mango, apple, pineapple juice, etc. Shelf stable, fortified with vitamins A. C, and E. Creditis as 3/4 cup of "other" or Additional Vegetable for the Child Nutrition program. Crediting statement/product formulation sheet must be provided. Ship Lot: 400 Cases	WANGO MANGO 62050 APPPLE & EVE 84503 SUNCUP 412800 & 412900	500,000	Country Pure Foods	1% net 10 21 days	V-blend	62052	40	40	\$0.40	\$16.10	12,500.00	\$208,625.00	If Shelby County wishes to purchase in half-truckload quantiles (20,000 LBS) the delivered price is \$16.65 per case	2	

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
1853	Column 2 SERVINGS	Column 3 Pretzels, Mini WG - Mini pretzel sticks, bagged or packed by the serving so that each serving is equal to 1oz eq of grain per Child Nutrition Program guidelines. Crediting statement required. Trans fat free. Approximate Pack: 100/1.2 oz Ship Lot: 400 Cases	Column 4 Bake Crafters- 5712	Column 5 200,000	Column 6 NO BID	Column 7	Column 8	Column 9 NO BID	NO BID	Column 11	Column 12	\$0.00	#DIV/0!	#DIV/0!	Column 16	Column 17	NO BID
1872	SERVINGS	Almond Milk, Vanilla Flavored - Shelf stable 8 oz., vanilla flavored. Free of dairy, soy, lactose, gluten, casepag, and MSC. 8 oz. single serve containers. Case pack 18 servings, indicate if packed differently. Ship Lot: 100	Silk 136461 , (80,000	NO BID	NO BID	NO BID	NO BID	NO BID			\$0.00	#DIV/0!	#DIV/0!			NO BID
1874	SERVINGS	Milk, Soy, Vanilla Flavored 8 oz- Shelf stable soy based milk. To contain all nutrients to qualify as reimbursable through the USDA Child Nutrition program as fluid milk. Ship Lot: 200	Kikkoman Pearl 06184 Silk 136466	100,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	kikkoman	6184	24/8oz	24	\$0.89	\$21.39	4,166.67	\$89,125.07	currently set up remote – need set up from kikkoman	5 weeks	AWARD SAMPLE SENT SAMPLE PASSED
1876	SERVINGS	Milk, Soy, Chocolate Flavored 8 oz- Shelf stable soy based milk. To contain all nutrients to qualify as reimbursable through the USDA Child Nutrition program as fluid milk. Ship Lot: 200		100,000	NO BID	NO BID	NO BID	NO BID	NO BID			\$0.00	#DIV/0!	#DIV/0!			NO BID
2315	SERVINGS	Noodles, Ramen, WG - Dry ramen noodle. Each servin to provide a minimum of .75 - 1 oz. grain equivalent for the child nutrition program. Must provide CN label or crediting statement. Please indicate serving size. (Ex. 1/2 cup or 3/4 cup). Ship Lot: 300	810037811933	200,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	PALMETTO	11933-new	1/48ct	144	\$0.27	\$38.39	1,388.89	\$53,319.48	new item set up -7280135	6 weeks	AWARD
2330	SERVINGS	Soy Sauce, Individual Packets - Low sodium soy sauc packets. Case pack 500 servings. Please indicate if packed differently. Ship Lot: 300	e No Approved Brands	500,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	KIKKOMAN	120	200/.3oz	200	\$0.06	\$11.74	2,500.00	\$29,350.00	currently set up remote – need set up from kikkoman	5 weeks	AWARD SAMPLE SENT SAMPLE PASSED
2346	SERVINGS	Coffee, Cold Brew, Vanilla - Vanilla Latte flavored coffee, sweetened with milk. Packed in non breakable container. Must be compliant with Smart Snack Guidelines. Each bottle to yield 8 oz. Approximate Pack: 24/case Ship Lot: 100 Cases	No Approved Brands	15,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	HEARTLAND- JAVA HOUSE	FA10E080	24/8OZ	24	\$1.39	\$33.36	625.00	\$20,850.00	FOR HIGH SCHOOL ONLY	5 WEEKS	AWARD SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
2347	SERVINGS	Coffee, Cold Brew, Latte - Latte flavored coffee, sweetlend with milk - Rocked in non breakable container. Must be compliant with Smart Snack Guidelines. Each bottle to yield 8 oz. Approximate Pack: 24/case Ship Lot: 100 Cases	No Approved Brands	15,000	SYSCO MEMPHIS,	NET 14 DAYS	HEARTLAND- JAVA HOUSE	FA10E040	12/8oz	12	\$1.50	\$18.00	1,250.00	\$22,500.00	FOR HIGH SCHOOL ONLY- salted caramel- NEW ITEM SET UP cold brew latte has been discontinued per the vendor	5 WEEKS	AWARD
2349	SERVINGS	Cookie, Berries & Cream - A berry flavored cookie filled with a sweet cream filling. Individually wrapped. Must be compliant with Smart Snack Guidelines. Must meet 1 oz. grain equivalent. Approximate Pack: 120 per case	No Approved Brands	100,000	Rich's	2% 10 days - net 11	Rich's	23365	120/1.70 oz	120	\$0.48	\$57.00	833.33	\$47,500.00	5,000 lbs order min.	10 Days	AWARD SAMPLE SENT SAMPLE
		Ship Lot: 100 Cases															PASSED
2354	SERVINGS	Tea, Reduced Sugar, Sweet - Unflavored, 12 oz reduced sugar sweet tea. Packed in non breakable container. Must meet smart snack guidelines for the child nutrition program. Please indicate pack size.	No Approved Brands	50,000	NO BID	NO BID	NO BID	NO BID	NO BID			\$0.00	#DIV/0!	#DIV/0!			NO BID
		Ship Lot: 100 Cases															
2355	SERVINGS	Water Flavored, Lemonade - Lemonade flavored water with zero sugar, 16.9 oz. Packed in non breakable container. Nust meet smart snack guidelines for the child nutrition program. Please indicate pack size. Ship Lot: 100 Cases		50,000	NO BID	NO BID	NO BID	NO BID	NO BID			\$0.00	#DIV/0!	#DIV/0!			NO BID
2356	SERVINGS	Beverage, Sparkling Juice, Fruit Punch - Carbonated, caffiene free, no added sweetners to contain no more than 110 miligrams of sodium per 12 oz. Packed in no breakable container. Approximately 24 8.4 oz cans. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	50,000	NO BID	NO BID	NO BID	NO BID	NO BID			\$0.00	#DIV/0!	#DIV/0!			NO BID
2357	SERVINGS	Fruit Snack, Assorted Fruit - Fruit flavored snacks made from 100% fruit juice. Mixed fruit flavored. Must meet smart snack guidelines for the child nutrition program. Approximate Pack: 144 per case. Please indicate pack size.	No Approved Brands	75,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	GM- MOTTS	4795400- 4407427	144/1.5oz	144	\$0.43	\$61.98	520.83	\$32,281.04	coming from DOT	4 weeks	NO AWARD NO SAMPLE SENT
		Ship Lot: 100 Cases															
2359	SERVINGS	Chips, Corn & Potato Hot Stix - Whole Grain hot flavored corn and potato chip. Stick-shaped chip. Must be smart snack compliant. Must meet 1 oz. grain equivalent for the child nutrition program. Total fat must not exceed 35% of calories. Sat fat must not exceed 10% of total calories and no mor than 230 mg. of sodium. Minimus helf life: 30 days from delivery date. Approximate pack: 104/case. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	100,000	NO BID	NO BID	NO BID	NO BID	NO BID			\$0.00	#DIV/0!	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
2371	SERVINGS	Column 3 Meal Kit, Cinnamon Cereal Crunch Bar - Shelf Stable Breakfast Break - 30 CT Cinnamon Cereal Bar Kit - Each kit provides 2 cz. equivalent grains, and 1 cup fruit. Packed in a recyclable clear cello bag with colordul kid friendly graphics. Each kit also contains a prepackaged spoon, napkin & straw. Must be free of Artificial Filavors, Trans Fats and High Fructose Corn Syrup. Must Contribute 2 grains, full cup fruit. Must be Buy American Compilant. Memphis-Shelby County Branded Logo required on kit. Approximate Pack Size: 30 CT cereal kits. If packed differently, please indicate. Ship Lot: 400 Cases	Column 4 No Approved Brands	Column 5	Column 6 ES Foods	Column 7	Column 8 ES Foods	Column 9	Column 10	Column 11	Column 12	Column 13	1,666.67	\$110,400.00	ES Foods 61245 (Cinnamon Toast Crunch Cereal Bar Breakfast Breaks. Each serving (1 Meal) Meet 2 oz Grain and Half Cup of Fruit. Shelf Stable, 60/case. Order Min: 7 pallets (392 cases) combined. Order Min of Shelf Stable Breakfast Breaks can be combined to make up minimum	orders. Lead-time does not include transit time which can take from 3-5	SAMPLE
2371	SERVINGS	Meal Kit, Cinnamon Cereal Crunch Bar - Shelf Stable Breakfast Break - 30 CT Cinnamon Cereal Bar Kit - Each kit provides 2 oz. equivatelr grains, and 1 oup fruit. Packed in a recyclable clear cello bag with colorful kid friendly graphics. Each kit also contains a prepackaged spoon, napkin & straw. Must be free of Artificial Flavors, Trans Fats and High Fructose Corn Syrup. Must Contribute 2 grains, full cup fruit. Must be Buy American Compliant. Memphis-Shelby County Branded Logo required on kits. Approximate Pack Size: 30 CT cereal kits. If packed differently, please indicate. Ship Lot: 400 Cases	No Approved Brands	100,000	ES Foods	NET 30	ES Foods	61282R20	30 ct/case	30	\$1.464	\$43.92	3,333.33	\$146,400.00	ES Foods 61282R20 (Cinnamon Toast Crunch Ceroal Bar (WO) Breakfast Breaks, Each serving (1 Meal) Meot 2 oz Grain and ONE Cup of Fruit. Shelf Stable, 303case Order Min: 7 pallets (392 cases) combined. Order Min of Shelf Stable Breakfast Breaks can be combined to make up minimum	not include transit time	
2372	SERVINGS	Meal Kit, Cheese Cup with Salsa - Cheese Cup with Salsa kit - Each meal kit provides a minimum of 2.00 oz. m/ma, 1 oz. equivalent grains, % cup vegetable and % oup firut. Packed in a recyclable clear cello bag with MSCS logo. Each kit also contains a prepackaged spoon, napkin & straw. Must be fire of Artificial Colors, Trans Fals and High Fructose Corn Syrup. Must be Buy American Compliant. Memphis-Shelby County Branded Logo required on kits. Approximate Pack Size: 30 CT cheese and salsa cup kits. If packed differently, please indicate. Ship Lot: 300 Cases	No Approved Brands	75,000	ES Foods	NET 30	ES Foods	61419	30 ct/case	30	\$2.514	\$75.42	2,500.00	\$188,550.00	ES Foods 61419 (Cheese Cup w/Salsa Meal Breaks. Each serving (1 Meal) meet 2 oz MMA, 1.25 oz 6, 1/2 cup red veg and 1/2 cup fruit. Shelf Stable, 30/case. Order Min: 7 pallets (392 cases) Orders of Shelf Stable Meal Breaks can be combined to make up minimum	orders. Lead-time does	AWARD SAMPLE SENT SAMPLE PASSED
2373	SERVINGS	Meal Kit, Ceroal, WG, Oat w/ Marshmallow - Frosted Toasted Oat Cereal with bright colored marshmallows. Whole grain cereal in a sealed bowl pack container. Container must be easy to open. No more than 12 grams of sugar per 2 oz. serving. Must meet 2 oz. grain equivalents for the Child Nutrition Program. (CACFP compliant) Packed in a revyclable clear cello bag with MSCS logo. Must be Buy American Compliant. Memphisshelby Countly Branded Logo required on kits. Approximate Pack Size: 60/case. Please specify pack size if different. Ship Lot: 400 Cases		100,000	ES Foods	NET 30	ES Foods	61103	60 ct/case	60	\$1.024	\$61.44	1,666.67	\$102,400.00	ES Foods 61103 (Lucky Charms Breakfast Breaks. Each Serving (1 Meal) meets 2 oz G, 1/2 cup fruit. Sheff Stable, 60/case. Order Min: 7 pallets (245 cases). Order Min of Sheff Stable Breakfast Breaks can be combined to make up minimum	not include transit time which can take from 3-5	AWARD SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
2375	Column 2 SERVINGS	Column 3 Meal Kit, Turkey Stick - Shelf Stable Meal - 30 Honey Turkey Stick Kits - Each meal kit provides a minimum of 2.00 oz. m/ma, 1 oz. equivalent grains, ½ cup vegetable and ½ cup fruit Packed in a recyclable clear cello bag with MSCS logo. Each kit also contains a prepackaged spoon, napkin & straw. Must be free of Artificial Colors, Trans Fats and High Fructose Corn Syrup. Must be Buy American Compliant. Memphis-Shelby County Branded Logo required on kits. Approximate Pack Size: 30 CT Honey Turkey Stick kits. If packed differently, please indicate. Ship Lot: 500 Cases	Column 4 No Approved Brands	Column 5 200,000	Column 6	Column 7	Column 8 ES Foods	Column 9	Column 10 30 ct/case	Column 11	S2.514	\$75.42	Column 14	\$502,800.00	Column 16 ES Foods 61404 (ButterBall Turkey Stick Meal Breaks. Each serving (1 Meal) meets 2 oz M/MA, 1 oz 0, 1/2 cup additional veg and 1/2 cup fruit. Shelf Stable, 30/case. Order Min: 7 pallets (392 casse) Orders of Shelf Stable Meal Breaks can be combined to make up minimum	orders. Lead-time does	AWARD SAMPLE SENT SAMPLE PASSED
2378	SERVINGS	Meal Kit, Cereal, WG Frosted Corn Cereal-72 CT Multi Grain Frosted Corn Cereal Bow Kit: Each kit provides 2 oz. equivalent grains, and ½ cup fruit. Contains 6 grams or less sugar per 1 oz of cereal (CACFP compliant). Packed in a recyclable clear cello bag with MSCS logo. Each kit also contains a prepackaged spoon, napkin & straw. Must be free of Artificial Colors, Trans Fats and High Fructose Corn Syrup. Must be Buy American Compliant. Memphis-Shelby County Branded Logo on all kits. Approximate Pack Size: 72 CT. If packed differently, please indicate. Ship Lot: 500 Cases	No Approved Brands	100,000	NO BID	NO BID	NO BID	NO BID	NO BID			\$0.00	#DIV/0!	#DIV/0!			NO BID
2379	SERVINGS	Meal Kit, Strawberry Grain Cereal Bar - Shelf Stable Breakfast. Each kit provides 2 oz. equivalent grains, and /c up fmit. Packed in a recyclable clear cells bag with MSCS logo. Each kit also contains a prepackaged spoon, napkin & straw. Must be free of Artificial Flavors, Artificial Colors, Trans Fats and High Fructose Com Syrup. Must be Buy American Compliant. Memphis-Shelby County Branded Logo on all kits. Packed 60 CT Strawberry Grain Cereal Bar. If packed differently, please indicate. Ship Lot: 400 Cases	No Approved Brands	100,000	ES Foods	NET 30	ES Foods	61237	60 ct/case	60	\$1.104	\$66.24	1,666.67	\$110,400.00	ES Foods 61237 (Nutri- Grain Bar (WG) Strawberry Breakfast Breaks. Each serving (1 Meal) meets 2 oz 6, 1/2 cup fruit. Shelf Stable, 60/case. Order Min: 7 pallets (392 cases) combined. Order Min of Shelf Stable Breakfast Breaks can be combined to make up minimum	orders. Lead-time does	SAMPLE
2382		Meal Kit, Cereal, WG w/ Apples and Cinnamon flavor 72 CT Crunchy, sweetend whole grain cereal with apple and cinnamon Cereal Blow Kit. Each kit provides 2 oz. equivalent grains, and ½ cup fruit. Contains 6 grams or less sugar per 1 oz of cereal (CACFP compliant). Packed in a recyclable clear cello bag with MSCS logo. Each kit also contains a prepackaged spoon, napkin & straw. Must be free of Artificial Colors, Trans Fals and High Fructose Com Syrup. Must be Buy American Compliant. Memphis-Sheiby County Branded Logo on all kits. Approximate Pack Size: 60 CT. If packed differently, please indicate. Ship Lot: 400 Cases	No Approved Brands	100,000	ES Foods	NET 30	ES Foods	61118C	60 ct/case	60	\$1.024	\$61.44	1,666.67	\$102,400.00	ES Foods 61118C (Apple Jacks Breakfast Breaks. Each serving (1 Meal) meets 2 oz G, 12 cup of fruit. Sheff Stable, 60/case. Order Min: 7 pallets (245 cases) combined. Order Min of Sheff Stable Breakfast Breaks can be combined to make up minimum	3 weeks after recipt of orders. Lead-time does not include transit time which can take from 3-5 days. LTL orders ship on Friday	AWARD SAMPLE SENT SAMPLE PASSED

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
3017	SERVINGS	Coreal, Blueberry Corn - Individual bowl pack squares, Made with blueberry flavoring, Must meet 2 oz. grain equivalent for the Child Nutrition Program. No more than 12 grams of sugar per 2 oz. serving. CN label or crediting statement required. Approximate Pack Size: 60/case. Please specify pack size if different. Ship Lot: 200 Cases	Blueberry Corn Chex - 17262-0	200,000	CHURCHFIELD TRADING	NET 30	GENERAL MILLS	17262-0	60/2oz	60	\$0.60	\$35.85	3,333.33	\$119,500.00	min 850 cs can combine GM products	14 days	AWARD Cost per serving is 0.5975
3017	SERVINGS	Coreal, Blueberry Corn - Individual bowl pack squares. Made with blueberry flavoring. Must meet 2 cs. grain equivalent for the Child Nutrition Program. No more than 12 grams of sugar per 2 cz. serving. CN label or credifing statement required. Approximate Pack Size: 60/case. Please specify pack size if different. Ship Lot: 200 Cases	-	200,000	SYSCO MEMPHIS, LLC	NET 14 DAYS	17262-7143888	60/2oz	60	\$0.60	\$0.60	\$35.96	333,333.00	\$11,986,654.68	currently set up remote- set it up to come from GM-	5 weeks	Cost per serving is 0.5993

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1111	CASE	prevent leakage and contains a	Bay Valley 127/12822891393 Cajun Chef Heinz 5218904 Bay Valley 12746771170	1,000	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID
1206	CASE	Gochujang Sauce- Gochujang flavored. No MSG, preservatives, artificial flavors, or high fructose corn syrup. Bright and appetizing color with a sweet & savory taste. Approximate pack size 6/ 5lb jugs. Ship Lot: 100 Cases	Monarch - 768770	800	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID
1261	CASE	Beans, Great Northern - Canned, dry, packed in salt water. Packed to U.S. Grade A standards. Low sodium with 140 mg of sodium or less. 6/#10 cans per case. Minimum drained weight of 66 oz. per can. Ship Lot: 476	Gordon Food Service/ (LEN16051GF) Furmano F11621⊡	476	Robbins Sales Company Inc	N30	Furmano's	F11621	6/#10	144 Servings Per Case, 41.25lbs per case		\$29.65	476	\$14,113.40	n/a	14-21 Days ARO	AWARD
1276		Vegetable oil for frying, baking and salads. Should be trans fat	Chef's Pride 54107 GFS/Cargill 61488 Harvest Value 291524 Wesson 2700061234	400	Badia	Net 30	Badia	40554	4/20oz	5 Lbs	\$4.43	\$22.15	400	\$8,860.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD
		Ship Lot: 100 Cases															

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	Column 6 ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 16	Column 17	Column 18	Column 19
1333	CASE	Seasoning, Garden Blend - Seasoning with a blend of spices and herb with a strong garlic and onion flavor profile. With dehydrated vegetables: carrots, tomatoes, and bell peppers. Salt free. No MSG added. Approximate Pack: 6 containers per case. Ship Lot: 200 Cases	Badia 40554	400	Badia	Net 30	Badia	40554	4/20oz	5 Lbs	\$4.43	\$22.15	400	\$8,860.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD
1339	CASE	Mexican Rice Seasoning Mix - Seasoning with a blend of spices and herbs with a southwestern profile. With a variety of dehydrated vegetables: bell peppers, onions, and garlic. No MSG added. Approximate Pack: 6 containers per case. Ship Lot: 200 Cases	Diamond Crystal 58801	400	DYMA BRANDS, INC.	1% 10/ NET	CHEF'S COMPANION	58801	6/6.82 OZ	110 PREPARED CUP SERVING	\$0.1182	\$13.00	400	\$5,200.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIPMENT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	3 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY, MOST PRODUCTS MANUFACTURED WHEN ORDERED.	AWARD
1343	CASE	Onion Flakes, Dehydrated - Chopped, Fancy, Approximate pack - Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	Badia 00536	600	Badia		BADIA	536	6/14oz	5.25 Lbs	\$4.93	\$25.88	600	\$15,528.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1346	CASE	granules to be made from pure dehydrated garlic. Approximate Pack: 6 containers per case.	McCormick 900223226 Rodelle 15123 Sauer 01809 Badia 0524 Assagio Classico 707710	500	BADIA		BADIA	524	6/1.5 LBS	9 Lbs	\$3.51	\$31.55	500	\$15,775.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD
			McCormick 900223226														
1346	CASE	dehydrated garlic. Approximate Pack: 6 containers per case.	Rodelle 15123 Sauer 01809 Badia 0524 Assagio Classico 707710	500	SYSCO MEMPHIS, LLC	NET 14 DAYS	McCormick	974506-5935606	6/25oz	1416	\$0.04	\$58.90	500	\$29,450.00		3 WEEKS	
1346	CASE	Garlic, Granulated- Garlic granules to be made from pure dehydrated garlic. Approximate Pack: 6 containers per case.	McCormick 900223226 Rodelle 15123 Sauer 01809 Badia 0524 Assagio Classico 707710	500	SYSCO MEMPHIS, LLC	NET 14 DAYS	McCormick	974506-5935606	6/25oz	1416	\$0.04	\$58.90	500	\$29,450.00		3 WEEKS	
1346	CASE	granules to be made from pure dehydrated garlic. Approximate Pack: 6 containers per case.	McCormick 900223226 Rodelle 15123 Sauer 01809 Badia 0524 Assagio Classico 707710	500	CHURCHFIELD TRADING	NET 30	CF SAUER	1809	6/25OZ	4248	\$0.01	\$76.06	500	\$38,030.00	1,000 LB MIN	14 DAYS	

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1363	CASE	Vegetable Base, Low-Sodium - Shelf stable, low sodium vegetable base. In paste form. No added MSG. Gluten free. Less than 140mg sodium per serving. No preservatives or artificial flavors. Made from vegetables to include onion, celery, and carrots. For hot and cold applications. Approximate pack - 6/1 lb containers per case Ship Lot: 100 Cases	Custom Culinary 08441EGLD	300	SYSCO MEMPHIS, LLC	NET 14 DAYS	custom culinary	08441egkl- 8374019	6/1#	12	\$4.19	\$50.23	300	\$15,069.00	COMING FROM DOT	3 WEEKS	AWARD
1371	CASE	form with no additives. Anti- caking additive acceptable. Packed: 12/3 lb boxes per case.	TRU FLO 24044 Morton TFC Purex Morton H-I-Salt- TFC Purex-S0 Cargill 7499 Badia 40494	400	BADIA		BADIA	40494	4/42OZ	10.5 Lbs	\$1.31	\$13.80	400	\$5,520.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD
1373	CASE	Cajun Seasoning - Seasoning to contain garlic, cayenne pepper, onion, black pepper, red and green bell pepper, herbs and spices. Case to contain 6/16 - 21 oz. plastic resealable containers. Ship Lot: 100 Cases	McCormick 974235 Assagio Classico 710558 Badia 00616	300	SYSCO MEMPHIS, LLC	NET 14 DAYS	Mccormick- sysco	974235-5228424	6/18oz	638	\$0.14	\$89.52	300	\$26,856.00		3 WEEKS	NO AWARD NO SAMPLE SENT
1373	CASE		McCormick 974235 Assagio Classico 710558 Badia 00616	300	SYSCO MEMPHIS, LLC	NET 14 DAYS	Mccormick- sysco	974235-5228424	6/18oz	638	\$0.14	\$89.52	300	\$26,856.00		3 WEEKS	NO AWARD NO SAMPLE SENT

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1373	CASE		McCormick 974235 Assagio Classico 710558 Badia 00616	300	CHURCHFIELD TRADING	NET 30	CF SAUER	1021	6/20OZ	3402	\$0.01	\$51.77	300	\$15,531.00	1000 LB MIN ORDER	14 DAYS	NO AWARD NO SAMPLE SENT
1377	CASE	disilled, white, 4-5% acetic acid. Ship Lot: 100 Cases	Sysco Memphis LLC (911123) GFS/Woeber 7468000211 Packer 4713475 Kaiser # 08371 Gordon Mizkan America's 107247 Garden Club #608054100 Rich In All 526-18999	800	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID
1389	CASE	Honey, Ind Pkg - 5-9g individual packet of US Grade A pure honey. Golden in color. Sweet flavor. Approximate pack size 200 per case. Ship Lot: 200 Cases	05428 Ventura 47245HLN	400	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID
1731	CASE	Italian Seasoning - Spice blend of dried basil, dried oregano, dried rosemary, dried thyme, amd dried marjoram. Approximate Pack: 6 containers per case. Please indicate if packed differently.	Badia 00720	400	BADIA		BADIA	720	6/5OZ	1.875 Lbs	\$6.73	\$12.61	400	\$5,044.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD
1731	CASE	Italian Seasoning - Spice blend of dried basil, dried oregano, dried rosemary, dried thyme, amd dried marjoram. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	Badia 00720	400	CHURCHFIELD TRADING	NET 30	CF SAUER	1380	3/24OZ	5100	\$0.01	\$44.77	400	\$17,908.00	1000 LB MIN ORDER	14 DAYS	

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1917	CASE	Cheese Sauce Heat and Serve Can — Made with real yellow cheddar cheese, smooth and creamy with consistent flavor, texture and appearance. Reduced sosium. CN label or crediting state required. Approx. pack 6 cans per case. If packed differently, please indicated. Ship Lot: 300 Cases	No Approved Brands	952	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID
1919	CASE	Ranch Dressing, Light or Fat Free - Prepared, ready to use in 4/1 gallon Jars per case. Contains no MSG. Creamy white color with a touch of garlic, onion, spices and black pepper for high quality ranch dressing. Should contain no more than 3 grams of fat per 2 tablespoons of dressing. If packed differently, please indicate. Ship Lot: 250 Cases		500	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID
2303	CASE	Base, Beef - Shelf stable, low sodium beef base. In paste form. No added MSG. Gluten free. Less than 140mg sodium per serving. No preservatives or artificial flavors. Made from beef stock to include salt, sugar, and hydrolized com protein. For hot and cold applications. Approximate pack - 6/1 lb containers per case. Please indicate if packed diferently. Ship Lot: 100 Cases	No Approved Brands	300	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2304	CASE	Base, Chicken - Shelf stable, low sodium chicken base. In paste form. No added MSG. Gluten free. Less than 140mg sodium per serving. No preservatives or artificial flavors. Made from chicken stock to include vegetables and herbs. For hot and cold applications. Approximate pack - 4/1 lb containers per case. Please indicate if packed differently.	Chef's Companion 57463 Foothill Farms 575T-T0700	300	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID
		Ship Lot: 100 Cases															
2319	CASE	Oats, Dry - Bulk, quick cooking whole grained rolled oats. Must provide CN label or crediting statement the child nutrition program. Approximate pack size: 12 42 oz. canisters. If packed differently, please indicate. Ship Lot: 200 Cases	No Approved Brands	400	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID
2332	CASE	Sweet Chili Sauce – Traditional chili sauce flavor. Bright red in color. Made with pureed or chopped chili peppers, vinegar, sugar, salt, and other spices/seasonings. Ready to use, resealable pack. Approximate pack size: 4/1 gallon containers. Ship Lot: 200 Cases	No Approved Brands	500	SYSCO MEMPHIS, LLC	NET 14 DAYS	KIKKOMAN	01546-0618579	4/5.24#	1008	0.0441	44.452	500	\$22,226.00	CURRENTLY REMOTE- SET UP FROM KIKKOMAN	4 WEEKS	AWARD SAMPLE SENT SAMPLE PASSE
2358		Sugar, Powdered - White powdered sugar. Packed 24-1 pound boxes. Please indicate if packed differently.	No Approved Brands	300	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID
		Ship Lot: 100 Cases															

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Cases (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 16	Column 17	Column 18	Column 19
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
2361	CASE	Salt Packets, Individual - Packets of finely granulated iodized white salt. Packed 3000 per case. Please indicate if packed differently.	No Approved Brands	200	DYMA BRANDS, INC.	1% 10 / NET 11	SINGLE SERV	14353	3000/0.6G	3000	\$0.0032	\$9.50	200	\$1,900.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIPMENT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	3 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PRODUCTS MANUFACTURED WHEN ORDERED.	NO AWARD
2362	CASE	Black Pepper Packets, Individual - Packets of fine- ground black pepper. Packed 3000 per case. Please Indicate if packed differently.	No Approved Brands	200	DYMA BRANDS, INC.	1% 10 / NET 11	SINGLE SERV	14481	3000/0.1G	3000	\$0.0062	\$18.50	200	\$3,700.00	5,000# MINIMUM SHIPMENT. PRODUCTS MAY BE COMBINED TO MEET MINIMUM SHIPMENT. PALLETS CAN BE MIXED WHEN ORDERED IN LAYER QUANTITIES.	3 WEEKS TO ENSURE MAXIMUM SHELF LIFE UPON DELIVERY. MOST PRODUCTS MANUFACTURED WHEN ORDERED.	AWARD SAMPLE SENT SAMPLE PASSED
2380	CASE	Yogurt, Strawberry - shelf stable lowfat strawberry flavored yogurt. Packed 48 cups per case. Please indicate if packed differently. Ship Lot: 200	Backpack Yogurt - SBYLF101	400	National Food Group	Net 30 Days	Zee Zees	623378	48/ 4 oz	48	\$0.607	\$29.13	405	\$11,797.65	Please order in even pallet quantities. 1 pallet is 90 cases. The two flavors/ skus of yogurt provided can be mixed on one order to meet minimum. 12 month shelf life. 810 case minimum order per drop.	21 days / 3 weeks	NO AWARD SAMPLE SENT SAMPLE FAILED
2381	CASE	Yogurt, Vanilla - shelf stable lowfat vanilla flavored yogurt. Packed 48 cups per case. Please indicate if packed differently. Ship Lot: 200	Backpack Yogurt - VYLF101	400	National Food Group	Net 30 Days	Zee Zees	623376	48/ 4 oz	48	\$0.607	\$29.13	405	\$11,797.65	Please order in even pallet quantities. 1 pallet is 90 cases. The two flavors/ skus of yogurt provided can be mixed on one order to meet minimum. 12 month shelf life. 810 case minimum order per drop.	21 days / 3 weeks	NO AWARD SAMPLE SENT SAMPLE FAILED
3100	CASE	Pickles, Dill Pickle Spears - Each jar is securely sealed to prevent leakage and contains a resealable lid for each jar. Approximately packed in a case with 100 spears per jar. 4/1 gallon resealable jars per case. Ship Lot:	No Approved Brands	600	NO BID	NO BID	NO BID	NO BID	NO BID					\$0.00			NO BID

								Dry By the Ea	ach								
Stock Number	Unit	Description	Approved Brands (Manufacture Product Code)	Estimated Number Needed (Each) (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Bidders Manufacture Product Code	Pack Size	Number of Containers per Case	Cost Per Container	Cost Per Case	Required Number of Cases	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process.	ALL SHIP LOTS ARE IN CASES.												
1338	EACH	Black Pepper Containers- Coarse Ground only, powder not acceptable. Resealable lid. Please indicate if size pack. Bid amount based on 12/16 oz. containers Ship Lot: 100 Cases	Sauer 00918 Badia 10543 Assagio Classico 707742	480			BADIA	10543	6/16OZ	6	\$5.18	\$31.08	80	\$2,486.40	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD
1338	EACH	Black Pepper Containers- Coarse Ground only, powder not acceptable. Resealable lid. Please indicate if size pack. Bid amount based on 12/16 oz. containers Ship Lot: 100 Cases	Sauer 00918 Badia 10543 Assagio Classico 707742	480	CHURCHFIELD TRADING	NET 30	CF SAUER	918	6/1LB	6	\$9.92	\$59.52	80	\$4,761.60	CF SAUER NEW PC # IS 931 1000 LB MIN ORDER	14 DAYS	
1340	EACH	Chili Powder - Spice Blend of ground dried chile, cayenne pepper, cumin, garlic powder, paprika, oregano, and onion powder. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases		300			BADIA	00509	6/16OZ	6	\$4.68	\$28.08	50	\$1,404.00	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD
1340	EACH	Chili Powder - Spice Blend of ground dried chile, cayenne pepper, cumin, garlic powder, paprika, oregano, and onion powder. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	Badia 00509	300	CHURCHFIELD TRADING	NET 30	CF SAUER	1066	6/1LB	6	\$6.64	\$39.81	50	\$1,990.50	1000 LB MIN ORDER	14 DAYS	

								Dry By the Ea	ach								
1350	EACH	Cinnamon, Pure Ground - Cinnamon dark, fine ground. Approximate Pack: 12/16 oz containers per case. Please indicate if packed differently.	Trade East/ACH FD 22472 McCormick 00223208 Sauer 01062 Badia 0511 Rodelle 085981150661 Assagio Classico 708096	180			BADIA	00511	6/16OZ	6	\$5.17	\$31.02	30	\$930.60	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD
1350	EACH	Cinnamon, Pure Ground - Cinnamon dark, fine ground - Approximate Pack: 12/16 oz containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	Trade East/ACH FD 22472 McCormick 00223208 Sauer 01062 Badia 0511 Rodelle 085981150661 Assagio Classico 708096	180	CHURCHFIELD TRADING	NET 30	CF SAUER	1062	6/1LB	6	\$10.17	\$60.99	30	\$1,829.70	1000 LB MIN ORDER	14 DAYS	
		Granulated Powder, Onion -	No Approved Brands														
2323	EACH	Onion granules to be made from pure dehydrated onions. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases		500	BADIA	Net 30	BADIA	535	6/1.25IBS	6	\$4.22	\$25.32	83	\$2,101.56	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD SAMPLE SENT SAMPLE PASSED
2323	EACH	Granulated Powder, Onion - Onion granules to be made from pure dehydrated onions. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	500	SYSCO MEMPHIS, LLC	NET 14 DAYS	M CCORMICK- SYSCLS	974511-5935648	6/20oz	6	\$5.86	\$35.13	83	\$2,915.79		3 WEEKS	
2323	EACH	Granulated Powder, Onion - Onion granules to be made from pure dehydrated onions. Approximate Pack: 6 containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	500	CHURCHFIELD TRADING	NET 30	CF SAUER	1820	6/20 OZ	6	\$8.17	\$49.03	83	\$4,085.83	1000 LB MIN ORDER	14 DAYS	

								Dry By the Ea	ach								
2324	EACH	Oregano - Pure Oregano flake seasoning. Approximate pack - 6/1 lb containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	360	BADIA	Net 30	BADIA	312	4/1.35 LBS	4	\$8.54	\$34.16	60	\$2,049.60	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD SAMPLE SENT SAMPLE PASSED
2324	EACH	Oregano - Pure Oregano flake seasoning. Approximate pack - 6/1 lb containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	360	SYSCO MEMPHIS, LLC	NET 14 DAYS	MCCORMICK-SYSIMP	974310-5229158	6/13oz	6	11.95	\$71.70	60	\$4,302.00		3 WEEKS	
2324	EACH	Oregano - Pure Oregano flake seasoning. Approximate pack - 6/1 lb containers per case. Please indicate if packed differently. Ship Lot: 100 Cases	No Approved Brands	360	CHURCHFIELD TRADING	NET 30	CF SAUER	1414	7LB BAG	1	7.41	\$51.92	60	\$3,115.20	1000 LB MIN ORDER	14 DAYS	SAUER PRODUCT BIDDED WRONG SIZE PRODUCT
2345	EACH	Smoked Paprika - Pure, ground, Spanish, smoked flavor. Approximate pack - 6 containers per case. Please indicate if packed differently. Ship Lot: 50 Cases	McCormick 900032340	360	BADIA	Net 30	BADIA	673	6/16OZ	6	\$4.68	\$28.08	60	\$1,684.80	Pricing is delivered based on a 2,000LB minimum per order not per item	15 BUSINESS DAYS	AWARD SAMPLE SENT SAMPLE PASSED
2345	EACH	Smoked Paprika - Pure, ground, Spanish, smoked flavor. Approximate pack - 6 containers per case. Please indicate if packed differently. Ship Lot: 50 Cases	McCormick 900032340	360	CHURCHFIELD TRADING	NET 30	CF SAUER	9370	6/19OZ	6	10.5	\$63.02	60	\$3,781.20	1000 LB MIN ORDER	14 DAYS	
		Consenies Bill Mad 19	No Approved Brand														
5056	EACH	Seasoning, Dill - Made with a blend of dried spices flavored with dill, onion, and parsley. Fresh flavor with a tinge of sweet-like rye notes. Approximate pack size: 6/1 lb containers per case. Please indicate if packed differently Ship Lot: 200 Cases	NO Approved Brands	210	NO BID	NO BID	NO BID	NO BID	NO BID				#DIV/0!	#DIV/0!			NO BID

Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3 Bid Submissions That Deviate From What Is Being Requested in The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Column 5 Items listed are Pre-Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process. To be considered for the bid, a sample must be submitted for any item with no approved brand listed.	ALL SHIP LOTS ARE IN CASES.	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
1121	SERVINGS	Eggs, Hard Boiled - Medium precooked hard boiled eggs. Peeled and whole. No added preservatives. Packed in a dry pack pouch. Must meet 1 oz. meat/meat alternate for the Child Nutrition program. Approximate pack size: 144	Michael Foods 9159781 Papettis 46025-85018-00	150,000	Michael Foods	Net 30	Papetti	46025-85018-00	12/12 CT	144 servings/ 15 LBs	.2419 per serving / 2.3245 per lb	1,041.67	\$34.87	\$36,322.92	123		AWARD
1121		Eggs, Hard Boiled - Medium precooked hard boiled eggs. Peeled and whole. No added preservatives. Packed in a dry pack pouch. Must meet 1 oz. meat/meat alternate for the Child Nutrition program. Approximate pack size: 144/case. Please provide CN label or crediting statement. Ship Lot: 200	Michael Foods 9159781 Papettis 46025-85018-00	150,000	CHURCHFIELD TRADING	NET 30	MICHAELS/PAP ETTI'S	46025-85018-00	12 / 1.25LB	144.00	0.25	1041.67	\$36.31	\$37,822.92	MIN ORDER 648 CS	14-21 DAYS	
2307	SERVINGS	Cheese Cubes, Cheddar - pasterized natural mild cheddar cheese cubes made from cows milk. Serving size to provide 1 oz. meat/meat alternate for the Child Nutrition program. Approximate Pack: 4/5 bags per case. Please indicate if packed differently. Ship Lot: 200	Land O Lakes 44751000034500	200,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID
2310	SERVINGS	Tofu, Pre-Pressed - Refrigerated Soy based protein substitute. Product must be easily recognized as a meat/meat alternate substitute and must contain at least 5 grams of protein per 2.2 oz. serving by weight (1/4 cup vollume equivalent) to credit as 1 oz. meat/meat alternate. Please provide a Product Formulation Sheet to verify crediting. Serving size equals 2.2 oz. Please indicate if packed differently. Ship Lot: 150	Franklin Farms K514	100,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/01			NO BID

2382	SERVINGS	Butter Flavored Whipped Cups, IW - Whipped butter spread, fluffy, airy, lightly salted, and ready for spreading or topping. Individually wrapped 5 gram portion size. Approximate Pack: 1000 per case. Please indicate if packed differently. Ship Lot: 200	300,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!		NO BID
2334	SERVINGS	Cheese, Mozzarella/Provolone Blend, Shredded - blend of shredded mozzarella and provolone pastuerized natural cheese made from cows milk. Serving size to provide 1/2 oz.meat/meat alternate for the child nutrition program. Ship Lot: 200	400,000	Bongards Creameries	Net 30	Bongards	755361	4/5 LB	320 1oz portions	\$0.1831 / 1oz	1250.00	\$58.59	\$73,237.50	3 weeks	AWARD SAMPLE SENT SAMPLE PASSED
2353	SERVINGS	Cheese, Cream, Reduced Fat - Individual packets of plain reduced-fat cream cheese. Size/servings equals 1 oz. Approximate Pack: 100 per case Ship Lot: 100	75,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!		NO BID

							Dofricareta	d Dutha Camina									
Stock Number	Unit	Description	Approved Brand (Manufacture Product Code)	Estimated Number of Servings (2024-2025)	Bidder	Bidder Terms	Bidder Brand	Manufacturer's Product Code	Pack Size	Estimated Servings/Pounds per Case	Cost Per Serving/Pounds	Required Number of Cases	Cost per Case	Extended Total Cost	Comments	LEAD TIME FROM ORDER (IN WEEKS)	AWARDS
Column 1	Column 2	Column 3	Column 4	Column 5	Column 6	Column 7	Column 8	Column 9	Column 10	Column 11	Column 12	Column 13	Column 14	Column 15	Column 16	Column 17	Column 18
		Bid Submissions That Deviate From What Is Being Requested In The Specifications Below Will Be Considered A Non Acceptable Vendor Response.	PACK SIZES FOR THE FOLLOWING SPECIFICATIONS REFLECT CURRENT AWARDS. ALL PACK SIZES WILL BE THOROUGHLY CONSIDERED AND EVALUATED.	Items listed are Pre- Approved Brands, MSCS will accept an approved equal (1) as long as it meets the bid specification and (2) tested and approved through MSCS's Sample Submission Process. To be considered for the bid, a sample must be submitted for any item with no approved brand listed.	ALL SHIP LOTS ARE IN CASES.												
2328	POUND	Butter- Refrigerated, 100% pure vegetable oil, solid packed, must be trans-fat free. Packed: 30-1 pound pkgs/case, individually wrapped. Ship Lot: 250	No Approved Brands	25,000	NO BID	NO BID	NO BID	NO BID	NO BID			#DIV/0!	\$0.00	#DIV/0!			NO BID